160

140

120

100

BO

60

40

20

0

®,
—t
I::L_.

Run 5225 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

1579496
164

Enlries
Mean

Sid Devy  5.343e+04

[ 1 :'»«’u'lﬁfiifi

-5

0

5

10

15

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5225 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

Entries 0
Mean 0
Std Dev 0

2000
1800
1600
1400
1200
1000
800
600
400
200

0

Run 5225 quartetwise, Asyms0 (Raw): Beam OFF

_ quarebwise_bsamd asyrb
[ Entrigs 48067
— Mean 0.003376
— Std Dav 75.03
:— B

:l | I | 1 1 1 | 11 1 1 | | I | -L | 1 1 1 | 11 1 1 | 1 1 1 I I | |

—200 —-150 100 -50 0 50 100 150 200

gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

BOODOD

70000

60000

50000

40000

30000

20000

10000

0

Run 5225 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

auamstwiza baami la=® asymi

82550
325.2
T.3858+04

Enlries
Mean
Sid Daw

=10

-5

D

5

10

15

gHelNSamples0}/|{PosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.000000)



35000

30000

25000

20000

15000

10000

5000

Run 5225 quartetwise, Diffs0: All

guartetwise diff0

Entries 1573496
Mean 0.00172
Std Dev 0.3489

2

4

B

B

10

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5225 quartetwise, Diffs0: Beam ON, Laser ON

quanebwise_beaml_las? ot
Entries 0
Mean 0
Std Dev 0

3000

2500

2000

1500

1000

500

12000

10000

BOOD

6000

4000

2000

Run 5225 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

[ Enlries ABOET
B Mean 0.000Z605%
[ St Dav 0.2261
[ | | | | 1 | | | | | | | | 1 1 | | |

0.4 0.2 0 0.2 0.4 0.6

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso

Run 5225 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Eniries BEREY
Mean 0001613
Sid Dewv 0.379
' B
10

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD




9000

BO00

{000

6000

5000

4000

3000

2000

1000

=

Run 5225 quartetwise, NegHelAcc0O/NSamples0:

All

quartetwize_negHQ

Entries 1579496
Mean —0.4561
Std Dev 1.723

Eln_LlllllIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

B

MNegHelAccD/NegHelNSampleso

Run 5225 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON

q.amalmsu baami last HIIHH[I
Entries 0
Mean 0
Std Dev 0

3500

3000

2500

2000

1500

1000

500

5000

4000

3000

2000

1000

Run 5225 quartetwise, NegHelAcc0/NSamples0: Beam OFF
guarebwise_bsamd negkll
= Entries ABOGT
— Mean —1.965
- StdDev  1.178
I I L [ T L
5 4 —3 2 1

MNegHelAccO/NegHelNSamplesO

Run 5225 quartetwise, NegHselAccl/NSamples0: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

Eniries B2559
Mean 0008001
Sid Dewv 1.235

MNegHelAccO/MNegHelNSamplesD




14000

12000

10000

8000

6000

4000

2000

Run 5225 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

Entries 1579496
Mean —0.4544
Std Dev 1.724

é}__llllllllllllllllllllIII|III|

—4

-2

0

2

4

6

B

10 12

PosHelAccO/PosHelNSamplesD

Run 5225 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamnsiwisa baami los! poskHc
Entries 0
Mean 0
Std Dev 0

4000

3500

3000

2500

2000

1500

1000

500

12000

10000

8000

6000

4000

2000

Run 5225 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

Entries 48067
Mean -1.965
Std Dev 1.178

5 4 3 2

—

PosHelAccO/PosHelNSamplesD

Run 5225 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

_ Entrigs BEREY
[ Mean -0.006388
B Std Dev 1 236
L T N T O N O A B N [ v+ 1

2 4 6 B8 10 12

PosHelAccO/PosHelNSamplesD




12000

10000

8000

6000

4000

2000

Run 5225 quartetwise, Sums0: All

quartetwize_summbD
— Entries 157996
B Mean -0.9104
B " Std Dev  3.429
B 1 1 | 1 1 1 1 | 1 1 1 1 I 1 l 1 | 1 1 1
-10 -5 0 5 10

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5225 quartetwise, Sums0: Beam ON, Laser ON

quamstwisa baami las® summil
Entries 0
Mean 0
Std Dev 0

Run 5225 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

B Entries 48067

5000 — Mean -3.03

| Std Dev 2.346
4000 —
3000 .
2000 —
1000 —

D_IIIIIII |N'I-|_In-|LI7|~|||IIIII|IIII|III IIII|IIII 11 1
40 -4 8 = & 5 4 3 2 1
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0
Run 5225 quartetwise, Sums(®: Beam ON, Laser OFF

guamstwiza baam1 lasl sumimil

B Enfries 82559

Mean -0.01439

10000 B Std Dev 2442
BOOD —
6000 —
4000 —
2000 —

B L1 ! [T TR SN NN NN N
%o 5 10

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0




